
𝑥

41.8

20

15

𝑆𝑜𝑙𝑣𝑒 𝑓𝑜𝑟 𝑥.

30 41.8

20

𝑥

Separate Paper
70௢

15

21

𝑥

40௢

Redraw!

60௢

5

Solve Both Triangles

Think outside the Box

60௢

50𝑚

How high is the Cliff

30
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Label Hypotenuse, Opposite, and 
Adjacent to 𝜃 (𝑡ℎ𝑒 𝑎𝑛𝑔𝑙𝑒)

𝜃
𝜃

12

5

13

Label Hypotenuse, Opposite, and Adjacent 
to 𝜃 (𝑡ℎ𝑒 𝑎𝑛𝑔𝑙𝑒) and State the ratio.

𝑐𝑜𝑠𝜃 =

Solve on calculator 
to  3 decimals

𝑡𝑎𝑛25 =

30

10

Solve for Opposite. 

60

12

Solve for Hypotenuse.

𝜃
12

5

Solve for 𝜃 (𝑡ℎ𝑒 𝑎𝑛𝑔𝑙𝑒)

36

6
3

𝑥

𝑥

12

12

Solve for 𝑥. 𝐹𝑖𝑛𝑑 𝑡𝑎𝑛𝜃 𝑎𝑛𝑑 𝜃 𝑖𝑛 𝑏𝑜𝑡ℎ 𝑑𝑖𝑎𝑔𝑟𝑎𝑚𝑠 𝑏𝑒𝑙𝑜𝑤.

𝜃

𝜃 𝜃

20
15

30 41.8

Solve for 𝑥.

x

30 41.8

x

20
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